
＝ L dL

＋ 2 L 8 dL

4 L 1 dL

11 dL

1 L 3 dL

＋ 2 L 8 dL＝

＝ 2 L 4 dL

④ 1 L 3 dL 3 L

＋ L 9 dL

2 L 4 dL

1 L 5 dL

9 dL＝ 1

②

③ 1 L 5 dL ＋ dLL 14

dL

3

① 3 dL ＋ 7 dL＝ 10

・ 計算をしましょう。

dL

＝ 1 L

名まえ

日にち：　　月　　日

dL ＋ 8 dL＝ 11 dL

＝ 1 L 1

１

① 例題

(うすい字はなぞりましょう。)

＜ひっ算＞
１ L ４dL1

１ L １dL1
＜ひっ算＞

ひっさんでも

できるよ！



L

11 dL

＝ 1 dL

・ 計算をしましょう。

4 L 1 dL 4

1 L 3 dL

＋ 2 L 8 dL

L

dL

＋ L 9 dL

2 L 4 dL

日にち：　　月　　日

名まえ

＋ 2 L 8 dL＝ 3 L

9 dL

＝ 2

11 dL

＝ 1 L 1 dL

＝ 1 L

① 3 dL ＋ 7 dL dL

③ dL ＋

＝ 10

＝ 1 L

8 dL＝

④ 1 L 3 dL

② 3 dL ＋

1 L 5 14 dL

4 dL

1 L 5

１

① 例題 答え

(うすい字はなぞりましょう。)

＜ひっ算＞
１ L ４dL1

１ L １dL1
＜ひっ算＞


